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 ‘hmamḯ> bmoH$godm Am¶moJmÀ¶m narjm 2023

gm‘mÝ¶ {dkmZ KQ>H$mda àíZ AgUmè¶m ‘hmamḯ> bmoH$godm Am¶moJmÀ¶m narjm

1) ghm¶H$  amgm¶{ZH$ {díbofH$ MmiUr narjm, 19 OmZodmar 2023
2) X§V eë¶{M{H$ËgH$ MmiUr narjm, 2023
3) ‘w»¶ àemgH$s¶ A{YH$mar MmiUr narjm 2023
4) ghm¶H$ ‘Ëñ¶ Am¶wº$ MmiUr narjm 2023
5) amÁ¶godm ‘w»¶narjm  nong© 1 Vo 4, 2023
6) ‘hmamï´> JQ> H$ ‘w»¶ narjm nona 1, 2003
7) ’$m‘m©{gñQ>, d¡ÚH$s¶ ‘h{dÚmb¶o MmiUr narjm 2023
8) gm§p»¶H$s A{YH$mar, gmd©O{ZH$ Amamo½¶ MmiUr narjm 2023
9) H$m¶Xm A{YH$mar, ZJa{Z¶moOZ MmiUr narjm 2013
10) ghm¶H$ g§MmbH$,ZJa{Z¶moOZ MmiUr narjm 2023
11) ghm¶H$ H$m¶Xoera g„mJma/Aìda g{Md, ZJa{Z¶moOZ MmiUr narjm , 2013
12) ZJa{Z¶moOZ A{YH$mar MmiUr narjm 2023
13) {b{nH$ Q>§H$boIH$ (‘w»¶) narjm, 12 ’o$~«wdmar 2023
14) Xþæ¶‘ {ZarjH$ amÁ¶ CËnmXZ ewëH$ (‘w»¶) narjm  2023
15) H$a ghm¶H$ (‘w»¶) narjm 4 ‘mM© 2023

16) CÚmoJ {ZarjH$, JQ> H$ (_w»`) narjm, 11 ‘mM© 2023
17) ghm¶H$ Am¶wº $(Am¡fYo) MmiUr narjm, 17 ‘mM© 2023
18) ghmæ`H$ ({dYr) MmiUr narjm, 17 ‘mM© 2023
19) H${Zð> ŷd¡km{ZH$ MmiUr narjm, 17 ‘mM© 2023
20) H$m¶©H$mar A{^¶§Vm ({dÚwV) MmiUr narjm, 20 ‘mM© 2023
21) CnA{^¶§Vm ({dÚwV-¶m§{ÌH$s) MmiUr narjm, 20 ‘mM© 2023
22) ‘hmamï´> dZgodm ‘w»¶ narjm, 16 E{àb 2023
23) ‘hmamï´> AamOn{ÌV JQ> ~ d H$ godm, g§¶wº$ nyd©narjm, 30 E{àb 2023
24) ‘hmamï´> A{^¶m§{ÌH$s ({gpìhb) ‘w»¶ narjm, 23 E{àb 2023
25) Cng§MmbH$ Amamo½¶godm MmiUr narjm, 12 ‘o 2023
26) ‘hmamï´> A{^¶m§{ÌH$s ({dÚwV) ‘w»¶ narjm, 13 ‘o 2023
27) ‘hmamï´> H¥$frgodm ‘w»¶ narjm, 13 ‘o 2023
28) Cng§MmbH$ Am¡Úmo{JH$ gwajm MmiUr narjm, 16 ‘o 2023
29) ‘hmamï´> amOn{ÌV ZmJar godm g§¶wº$ nyd©narjm, 4 OyZ 2023
30) d¡ÚH$s¶ A{YH$mar MmiUr narjm, 8 Owb¡ 2023
31) VmbwH$m H«$sS>m A{YH$mar narjm, 8 Owb¡ 2023
32) ghm¶H$ g§MmbH$, ’$m°aopÝgH$ narjm, 29 Am°JñQ> 2023
33) {XdmUr Ý¶m¶mYre (H${Zð> ñVa) d Ý¶m¶ X§S>m{YH$mar nyd©narjm, 9 gßQ>|~a, 2023
34) ‘w»¶ àemgH$s¶ A{YH$mar narjm, 22 gßQ>|~a, 2023
35) àemgH$s¶ A{YH$mar narjm, 22 gßQ>|~a, 2023
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36) {d^mJr¶ ghm¶H$ H$j A{YH$mar, 24 gßQ>|~a, 2023
37) JQ>-~, ‘w»¶ narjm 2022 g§¶wº$ nona-1, 1 Am°³Q>mo~a,2023
38) JQ>-~ ‘w»¶ narjm Cn{Z~§YH$, 7 Am°³Q>mo~a 2023
39) JQ>-~ ‘w»¶ narjm amÁ¶ H$a {ZarjH$,14 Am°³Q>mo~a 2023
40) JQ>-~ ‘w»¶ narjm ghm¶H$ H$j A{YH$mar, 22 Am°³Q>mo~a,2023
41) JQ>-~ ‘w»¶ narjm nmo{cg Cn{ZarjH$ narjm, 22 Am°³Q>mo~a,2023
42) JQ>-~ ‘w»¶ narjm, 29 Am°³Q>mo~a, 2023
43) {XdmUr Ý¶m¶mYre (H${Zð> ñVa) d Ý¶m¶ X§S>m{YH$mar  nyd©narjm, 18 Zmoìh|~a, 2023
44) nmobrg Cn{ZarjH$ ‘¶m©{XV {d^mJr¶ ñnYm© nyd© narjm-2023, 10 {S>go|~a 2023
45) ‘hmamï´> AamOn{ÌV godm JQ>-H$, ‘w»¶ narjm 2023 (nona H«$. 2), {X. 17 [S>go|~a, 2023
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(5) gm‘mÝ¶ {dkmZ
* ^m¡{VH$emó , agm¶Zemó, àm{Uemó, dZñn{Vemó, Amamo½¶emó

*  ̂ m¡{VH$emó ({’${O³g)
56) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar
57) {dÚwVemó, Mw§~H$Ëd
58) AUw{dkmZ, IJmobemó Am{U A§Vami {dkmZ

*  agm¶Zemó (Ho${‘ñQ´>r)
59) AmdV© gmaUr - YmVy Am{U AYmVy
60) amgm`{ZH$ A{^{H«$`m - Amåb, jma, g§̀ wJo
61) g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ, dm ỳ, IVo

*  àm{Uemó (Pycm°Or)
62) noer{dkmZ d M¶mnM¶Z
63) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
64) Cn ẁº$ Am{U hmZrH$maH$ àmUr - newnmbZ, Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ

*  dZñn{Vemó (~m°Q>Zr)
65) dZñnVtMo dJuH$aU Am{U CXmhaUo
66) H¥$fr{dkmZ d dZemó
67) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr - ’$bmoËnmXZ Am{U ’w$beoVr'

*  Amamo½¶emó (hm¶OrZ)
68) ‘mZdr eara àUmbr - MoVmg§ñWm, aº$m{^gaU, nMZ d CËgO©Z g§ñWm, ñZm¶y d ApñW,
69) Amamo½` Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U H$m ©̀H«$‘
70) AÞ Am{U nmofU - ‘°H«$mo d gyú‘ nmofU Ðì¶o, OrdZgÎdo
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‘hmamḯ> AamOn{ÌV godm (JQ> ~ d JQ> H$) nyd© narjm 2023

Gr B & C Combined Preliminary Examination - 100 Points

100 ‘hÎdmMo ‘wÔo : gm‘mÝ¶ j‘Vm MmMUr nona

(1) AmYw{ZH$ ^maVmMm {deofV… ‘hmamḯ>mMm B{Vhmg
1) ẁamo{n`Z Am{U A±½bmo - {~«{Q>e ẁÕo
2) {~«{Q>e àemgZ - JìhZ©a OZaëg Am{U ìhmB©gam°̀ m§Mr ŷ{‘H$m
3) {~«{Q>e amOdQ>rVrb KQ>ZmË‘H$ gwYmaUm, H$m`Xo, Am¶moJ d g{‘Ë¶m
4) gm‘m{OH$ Ym{‘©H$ gwYmaUm
5) {ejU Am{U àog
6) {~«{Q>e amOdQ>rMm Am{W©H$ n[aUm‘
7) amï´>dmX Am{U amOH$s` g§KQ>Zm§Mm CX`
8) H«$m§{VH$maH$ g§KQ>Zm d amï´>dmX
9) H$m±J«og nj - g§ñWmnH$, A{YdoeZo, R>amd
10) ñdmV§Í¶ Midi - H$m±J«og, ñdXoer, Agh`moJ, g{dZ` H$m`Xô §J, ^maV N>moS>mo
11) eoVH$ar Am§XmobZ Am{U H¥$fr gwYmaUm
12) H$m‘Jma Midir Am{U H$m‘Jma g§KQ>Zm
13) ‘wpñb‘ brJ Am{U ’$miUr
14) ñdmV§Í¶ Am{U g§~§{YV g‘ñ`m
15) g§̀ wº$ ‘hmamï´> Midi d ñdmV§Í¶moÎma ^maV

History of Modern India especially of Maharashtra (15)
1) Europeans & Anglo - British Wars

2) British Administration - Role of GGs & viceroys

3) Constitutional and reform Acts, laws during British Rule

4) Sociorelegious reforms

5) Education & Press

6) Economic Impact of British rule

7) Rise of nationalism & political organisations

8) Militant Nationalism

9) Congress Party - Founders, Sessions, Resolutions

10) Freedom movement - Congress, Swadeshi, Noncoopeartion, Civil Disobedience, Quit India

11) Farmers agitation and agricultural reforms

12) Labour movements & Trade Unions

13) Muslim League & partition

14) Independence & related issues

15) Samyukt Maharashtra Movement
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(2) ŷJmoc (‘hmamḯ>mÀ¶m ŷJmocmÀ¶m {deof Aä¶mgmgh)
* n¥Ïdr, OJmVrc {d^mJ, hdm‘mZ, Ajm§e-aoIm§e, ‘hmamḯ>mVrc O{‘ZrMo àH$ma, nO©Ý¶‘mZ, à‘wI {nHo$, ehao, ZÚm,

CÚmoJY§Xo BË¶mXr.
16) n¥Ïdr - gỳ ©‘mbm
17) Ajm§e Am{U aoIm§e - à‘mU Am{U ñWm{ZH$ doi
18) ŷH§$n Am{U Ádmbm‘wIr, IS>H$, ^m¡Jmo{bH$ d¡{eï²> ò
19) OmJ{VH$ {d^mJ - nd©V,
20) hdm‘mZ - dmVmdaU, dmao Am{U ‘hmgmJa àdmh
21) nO©Ý¶‘mZ
22) ZÚm - YaUo Am{U àH$ën
23) ^m¡{VH$ ŷJmob - nd©V, nR>ma, dmid§Q>, {H$ZmanÅ>r, ~oQ>o
24) dZo Am{U dZñnVr - n`m©daU
25) ‘hmamï´>mVrb O{‘ZrMo àH$ma
26) à‘wI {nHo$ - eoVr
27) ehao
28) Am{W©H$ ŷJmob - I{ZOo Am{U D$Om© g§gmYZo, dmhVyH$ Am{U n ©̀Q>Z
29) CÚmoJ
30) amOH$s` ŷJmob - bmoH$g§»`m, ^mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m

Geography with special study of Geography of Maharashtra (15)
16) Earth - Solar System

17) Latitude and longitude - Standard & Local Time

18) Earthquakes & Volcanoes, Rocks, Geographical Features

19) World divisions - Mountains,

20) Climate - Atmosphere, Winds & Ocean Currents

21) Rainfall

22) Rivers - dams & projects

23) Physical geography - Mountains, Planes, Plateau, Desert, Coastal areas, Islands

24) Forestry - Vegetation & Environment

25) Soil types in Maharashtra

26) Major crops - Agriculture

27) Cities

28) Economic Geography - Minerals and Energy Resources, Transport & Tourism

29) Industries

30) Political Geography - Population, Languages, Tribes and Races, Locations & Boundaries

(3) ZmJ[aH$emó
* ^maVmÀ¶m amÁ¶KQ>ZoMm àmW{‘H$ Aä¶mg, amÁ¶ ì¶dñWmnZ (àemgZ), J«m‘ ì¶dñWmnZ (àemgZ)
31) g§{dYmZ g^m, òmoV, g{‘Ë`m, {MÝho
32) àñVmdZm, R>iH$ Am{U ‘yb ŷV d¡{eï²> ò, H$b‘o
33) ‘yb ŷV h¸$/E’$Ama, S>rnr, E’$S>r
34) KQ>Zm XþéñË¶m, Am`moJ Am{U ‘§S>io
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35) H|$Ð-amÁ` g§~§Y, amÁ¶ {Z{‘©Vr
36) Ý`m`nm{bH$m
37) amÁ` gaH$ma Am{U àemgZ - H$m ©̀H$mar, {d{Y‘§S>i
38) ñWm{ZH$ ñdamÁ¶ g§ñWm§Mr CËH«$m§Vr, 73 dr Am{U 74 dr XwéñVr
39) J«m‘n§Mm`V, VmbwH$m n§Mm`V, {Oëhm n[afX Am{U J«m‘{dH$mg
40) {Oëhm àemgZ

Civics (10)
31) Constituent Assembly, Sources, Committees, Symbols

32) Preamble, Salient & Basic features, articles

33) FRs, DPs, FDs

34) Amendments,Commissions and Boards

35) Centre - State relations, New States

36) Judiciary & Indian Union

37) State Government and Administration - Executive, Legislature

38) Evolution of LSG, 73rd & 74th Amendment

39) Grampanchayat, Taluka Panchayat, Zilla Parishad & Rural development

40) District Administration

(4) AW©ì¶dñWm
* ^maVr¶ AW©ì¶dñWm-amï´>r¶ CËnÞ, eoVr, CÚmoJ, naH$s¶ ì¶mnma, ~±qH$J, cmoH$g§»¶m, Xm[aÐç d ~oamoOJmar, ‘wÐm

Am{U amOH$mofr¶ ZrVr, emgH$s¶ AW©ì¶dñWm-AW©g§H$ën, coIm, coImnarjU
41) amï´>r` CËnÞ - OrìhrE, OrS>rnr
42) ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU
43) H¥$fr - J«m‘rU {dH$mg Am{U ghH$ma joÌ
44) CÚmoJ - nm`m ŷV gw{dYm Am{U godm joÌ
45) Am{W©H$ gwYmaUm - joÌr` dmT>, EgS>rOr, ‘°H«$mo BH$m°Zm°{‘Šg
46) {dXoer ì`mnma - AmH$ma‘mZ, {Xem Am{U aMZm
47) ~±qH$J - MbZ nwadR>m, H«o${S>Q> Am{U ‘m°{ZQ>ar nm°{bgr
48) bmoH$g§»`m - bmoH$g§»`m MH«$, bmoH$g§»`m YmoaU
49) J[a~r - g§H$ënZm, J[a~rMo ‘moO‘mn, Xm[aX²Œ¶ {Z‘y©bZ H$m ©̀H«$‘
50) amoOJma {Z{‘©Vr H$m ©̀H«$‘
51) {dH$mg H$m ©̀H«$‘ - ‘{hbm, ‘wbo, Á òð> ZmJ[aH$ `m§À`m g§X^m©V
52) Am{W©H$ Am{U {dÎmr` YmoaUo - H$a ‘hgyb
53) AW©g§H$ën
54) gmd©O{ZH$ IM©
55) boIm Am{U boImnarjU

Economy - Indian Economy & Government Economy (15)
41) National Income - GDP, GVA,

42) Inflation - causes, effects, control, measures

43) Agriculture - Rural Development & Co-operative sector

44) Industry - Infrastructure and Services Sector
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45) Economic reforms - Sectoral growth, MDG, SDG, Macro Economics

46) Foreign Trade - Volume, direction & structure

47) Banking - Credit and Monitory policies

48) Population - Demographic cycle, Population Policies

49) Poverty - Concepts, Measurement and estimates of poverty, Alleviation programs

50) Employment Generation programs -

51) Development Programs - with respect to women, children, senior citzens

52) Monetary and Fiscal Policies - Taxes

53) Budget

54) Public Expenditure

55) Accounts & Audit

(5) gm‘mÝ¶ {dkmZ
* ^m¡{VH$emó ({’${O³g), agm¶Zemó (Ho${‘ñQ´>r), àm{Uemó (Pycm°Or), dZñn{Vemó (~m°Q>Zr), Amamo½¶emó

(hm¶OrZ)
* ̂ m¡{VH$emó ({’${O³g)

56) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar
57) {dÚwVemó, Mw§~H$Ëd
58) AUw{dkmZ, IJmobemó Am{U A§Vami {dkmZ

* agm¶Zemó (Ho${‘ñQ́>r)
59) AmdV© gmaUr - YmVy Am{U AYmVy
60) amgm`{ZH$ A{^{H«$`m - Amåb, jma, g§̀ wJo
61) g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ, dm ỳ, IVo

* àm{Uemó (Pycm°Or)
62) noer{dkmZ d M¶mnM¶Z
63) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
64) Cn ẁº$ Am{U hmZrH$maH$ àmUr - newnmbZ, Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ

* dZñn{Vemó (~m°Q>Zr)
65) dZñnVtMo dJuH$aU Am{U CXmhaUo
66) H¥$fr{dkmZ d dZemó
67) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr - ’$bmoËnmXZ Am{U ’w$beoVr

* Amamo½¶emó (hm¶OrZ)
68)  ‘mZdr eara àUmbr - MoVmg§ñWm, aº$m{^gaU, nMZ d CËgO©Z g§ñWm, ñZm¶y d ApñW,
69) Amamo½` Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U H$m ©̀H«$‘
70) AÞ Am{U nmofU - ‘°H«$mo d gyú‘ nmofU Ðì¶o, OrdZgÎdo

General Science (15)
56) Dynamics, Heat, Waves - Light, Sound, EM spectrum

57) Electricity, Magnetism,

58) Nuclear science, Astronomy & Space science

59) Periodic Table - metals & nonmetals

60) Chemical reactions - acids, bases, compounds
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61) Organic chemistry - hydrocarbons, insecticides, Fuels, Gases, Fertilisers

62) Classification of animals and examples

63) Anatomy and Physiology wrt animal body

64) Useful and Harmful animals -Animal Husbandry, Dairy, Poultry

65) Classification of plants and examples

66) Anatomy and Physiology wrt plants

67) Useful and Harmful plants - Horticulture and floriculture

68) Human body system - CNS, CVS, GIT, Musculoskeletal, endocrine, Excretory

69) Health & Diseases - vectors, agents, diagnosis , treatmet & programs

70) Food and Nutrition -Macro, micro, minerals, vitamins

(6) Mmcy KS>m‘moS>r (15)
* Mmcy KS>m‘moS>r - OmJ{VH$ VgoM ̂ maVmVrc

* amOH$s¶ KQ>Zm
71) OmJ{VH$ g§KQ>Zm, Am§Vaamï´>r¶ g§~§Y, ‘mZdr h¸$ {df¶H$ KQ>Zm, g§ajU{df¶H$ KQ>Zm
72) amï´>r¶ amOH$s¶ KQ>Zm - {ZdS>UwH$m, àemgZ, Ý¶m¶mb¶rZ {ZH$mb, Am¶moJ, H$m¶Xo d KQ>ZmXþéñË¶m, Am§XmobZo

* Am{W©H$ d {dÎmr¶ KQ>Zm
73) OmJ{VH$ ñVamdarb Am{W©H$ KS>m‘moS>r, {dXoer ì¶mnma, CÚmoJ wa nm¶m ŷV joÌmVrb KQ>Zm
74) AW©g§H$ën d gmd©O{ZH$ {dÎm, ~±qH$J d d {dÎm, H¥$fr d J«m‘rU {dH$mg, Xm[aX²Œ¶ d ~oH$mar

* d¡km{ZH$ KQ>Zm
75) D$Om© V§ÌkmZ d AmpÊdH$ àH$ën,Amm¶grQ>r, AdH$me{dkmZ
76) d¡km{ZH$ g§ñWm d g§emoYH , O¡dV§ÌkmZ, amoJ{dkmZ $

* gm‘m{OH$ d e¡j{UH$ KQ>Zm
77) gm‘m{OH$ gwajoMo CnH«$‘ d nwT>mH$ma, gd©g‘mdoeH$Vm
78) e¡j{UH$ d Amamo½¶ joÌmVrb KQ>Zm, amoOJma {Z{‘©Vr d H$m¡eë¶ {dH$mg

79) ^m¡Jmo{bH$ d n¶m©daU{df¶H$ KQ>Zm - àH$mePmoVmVrb ñWio, amOH$s¶ ŷJmob, n¶m©daU n[afXm, g§dY©Z, H$m¶Xo,
AmnÎmrì¶dñWmnZ

80) Zo‘UwH$m, {Z¶wº$s d àH$mePmoVmVrb ì¶º$s
81) nm[aVmo{fH$, nwañH$ma d ~hþ‘mZ
82) H«$sS>m{df¶H$ KQ>Zm - H«$sS>m ñnYm©, IoimSy>§Mr H$m‘{Jar, nwañH$ma d gÝ‘mZ, àH$mePmoVmVrb IoimSy> d à{ejH$
83) gm§ñH¥${VH$ d n¶©Q>Z KQ>Zm - g§JrV d Z¥Ë¶, {MÌnQ>, ¶mÌm, g§ñWm d ñ‘maHo$
84) gm{hpË¶H$ KQ>Zm -àH$mePmoVmVrb nwñVHo$ d boIH$, _amR>r gm{hË` g§_ocZ d BVa CnH«$‘
85) gm‘mÝ¶kmZ - ‘hÎdmMo {Xdg d df©, gd©àW‘, gdm©V ‘moR>o/N>moQ>o, Eo{Vhm{gH$ KQ>ZmH«$‘
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Current Affairs (15)
* Political events

71) World Organization, International Relations, Human Rights Events, Defense Events

72) National Political Events - Elections, Administration, Judicial Results, Commissions, Laws and

Amendments, Agitations

* Economic and financial events

73) Global economic developments, foreign trade, industry and infrastructure developments

74) Budget & Public Finance, Banking & Finance, Agriculture & Rural Development, Poverty &

Unemployment

* Current events wrt Science & Technology

75) Energy Technology and Nuclear Projects, ICT, Space Science

76) Scientific institutes and researchers, biotechnology, pathology

* Social and educational events

77) Social security initiatives and inclusiveness

78) Events in education and health sector, job creation and skill development

79) Geographical and Environmental Events - Lights, Political Geography, Environmental Councils,

Conservation, Laws, Disaster Management

80) Appointment, appointment and person in the spotlight

81) Prizes, awards and honors

82) Sports Events - Sports Competitions, Athletes Performance, Awards & Honors, Light Players &

Coaches

83) Cultural and Tourism Events - music and dance, movies, travel, institutions and monuments

84) Literary Events - Books and Writers in Prakashjota, Marathi Sahitya Sammelan and other activities

85) General Knowledge - Important days and years, first of all, the biggest / smallest, historical

events

(7) ~w{Õ‘mnZ MmMUr d A§H$J{UV
* ~w{Õ‘mnZ MmMUr - C‘oXdma {H$Vr bdH$a d AMyH$nUo {dMma H$é eH$Vmo ho AO‘mdÊ¶mgmR>r

A§H$J{UV - ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma, Xem§e AnyUmªH$ d Q> o̧$dmar

~w{Õ‘mnZ MmMUr -
86) g§»¶m Am{U dU©‘m{bH$m
87) gm§Ho${VH$ ^mfm, gmå¶, VwbZm, dJuH$aU
88) ‘erZ BZnwQ Am{U {MÝho, J{UVr` VH©$, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
89) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©
90) ~¡R>H$ d ‘m§S>Ur ì`dñWm
91) ZmVog§~§Y
92) AmH¥$Ë`m§darb àíZ, KZmdarb àíZ
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A§H$J{UV -
93) g§»`màUmbr - bgm{d, ‘gm{d, dJ©‘yi Am{U KZ‘yi
94) ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma, Xem§e AnyUmªH$
95) Q> o̧$dmar, ^mJrXmar, gamgar, g§̂ mì`Vm
96) JwUmoÎma Am{U à‘mU, {‘lU, gmIir {Z`‘
97) doi Am{U A§Va,aoëdo, ~moQ> Am{U Obàdmh, H$mi Am{U H$m‘
98) Z’$m Am{U VmoQ>m, {dH«$s Am{U IaoXr, gmYo Am{U MH«$dmT> ì`mO
99) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr
100) KS>çmi, H°$b|S>a, d`, {Xem{ZX}e, doZ AmH¥$Ë`m§darb g‘ñ`m

Mental Ability test and Arithmetic (15)

General Mental Ability (7)
86) Sequence and series

87) Coding-decoding, Analogy, Comparisons, Classifications

88) Machine input & Symbols

89) Syllogism, Judgements, Drawing inference, Statements - Arguments and Conclusion

90) Sitting arrangement

91) Blood relations, Ranking Test, Comparison

92) Qs on figures

i) Construction of squares and triangles

ii) Series

iii) Completion of incomplete pattern

iv) Analogy, Group of Identical Figures

v) Classification, Odd figures or Odd man out

vi) Mirror-image, Water-image

vii) Paper folding, Paper cutting, Dot situation

viii) Spotting out the embedded figures

ix) Cubes and dice

x) Figure matrix

Arithmatics (8)
93) Number system - HCF and LCM, Square roots and cube roots, Surd and indices

94) Addition, Substarction, Multiplication, Division and Simplification, Decimal Fractions

95) Percentage, Partnership & investment, Average , Probability, Permutation Combination

96) Ratio and Proportion, Mixtures &Alligation, Chain Rule

97) Time and Distance, Trains, Boat and Stream, Time and Work, Pipe & Cistern

98) Profit and Losses, Sale & purchase, Discount , Simple and Compound Interest

99) Mensuration & Geometry - Areas, Volume and Surface Areas

100) Problems on Clock, Calendars, Ages, Directions, Locations and Positions, Venn diagrams
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(5) gm‘mÝ¶ {dkmZ

1) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar
2) {dÚwVemó, Mw§~H$Ëd
3) AUw{dkmZ, IJmobemó Am{U A§Vami {dkmZ
4) AmdV© gmaUr - YmVy Am{U AYmVy
5) amgm`{ZH$ A{^{H«$`m - Amåb, jma, g§̀ wJo
6) g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ, dm ỳ, IVo
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(1) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar
1) JVremó
2) CîUVm
3) bhar - àH$me, ÜdZr
4) {dÚwVMw§~H$s¶ bhar
5) ‘mnZ nÕVr

1) JVremó
1) VoOñdr gỳ ©àH$memÀ`m {Xder gỳ m©Ûmao {H$aUmoËgJ© hmoUmar D$Om© gw‘mao ............ AgVo.

1) 2.5 kw/m2 2) 1.0 kw/m2 3) 500 kw/m2 4) 200 kw/m2

1) The energy radiated by sun on a bright sunny day is about .............

1) 2.5 kw/m2 2) 1.0 kw/m2 3) 500 w/m2 4) 200 w/m2

2) gm¡a gobMr H$m ©̀j‘Vm gw‘mao ............ Amho.
1) 05% 2) 15% 3) 40% 4) 60%

2) The efficiency of solar cell is about  .............

1) 05% 2) 15% 3) 40% 4) 60%

3) n§»`mMm doJ 10% H$‘r Ho$ë`mZo, pñWa Xm~  ......... H$‘r hmoVmo Am{U D$O}Mr Amdûm`H$Vm ............ Zo H$‘r hmoVo.
1) 10% Am{U 19% 2) 19% Am{U 27% 3) 10% Am{U 27% 4) 27% Am{U 10%

3) By reducing fan speed by 10%, static pressure reduces by and power requirement reduces by.............

1) 10% and 19% 2) 19% and 27% 3) 10% and 27% 4) 27% and 10%

4) 'a~amMo ìhëH$ZrH$aU' ¶m à{H«$¶o‘Ü¶o ...... hm H$ÀÀ¶m a~am~amo~a EH$m {d{eï> Vmn‘mZmg VmndVmV.
1) nmoQ>°{e¶‘ 2) H°$pëe¶‘ 3) ’$m°ñ’$ag 4) gë’$a

4) In the process of ‘vulcanization of rubber’, ...... is heated with crude rubber at particular

temperature.

1) Potassium 2) Calcium 3) Phosphorus 4) Sulphur

5) n§»`mMm doJ 10% Zo dmT>ë`mg {dOoÀ`m JaOoMo H$m` hmoB©b?
1) {dOoMr JaO 17% Zo dmT>ob 2) {dOoMr JaO 27% dmT>ob
3) {dOoMr JaO 30% Zo dmT>ob 4) {dOoMr JaO 33% Zo dmT>ob

5) What will happen to the power requirement when the speed of the fan is increased by 10% ?

1) Power requirement will increased by 17% 2) Power requirement will increase by 27%

3) Power requirement will increase by 30% 4) Power requirement will increase by 33%

6) ...... Zo {Xboë¶m gyÌmZwgma nXmW© Am{U D$Om© ho XmoÝhr EH$‘oH$m§er g§~§{YV AmhoV:
1) Aë~Q>© AmB©ÝñQ>mB©Z 2) Ý¶yQ>Z 3) ê$Xa’$moS>© 4) ‘°Šgdob

6) Both matter and energy are related to each other by a formula given by:

1) Albert Einstein 2) Newton 3) Rutherford 4) Maxw
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7) Imbrb {dYmZmV H$moUVm H$m`Xm {Xbm Amho?
pñWa ÐdnXmWm©Vrb EH$m q~Xyda Xm~ qH$dm Xm~mMr Vrd«Vm gd© {Xem§Zm g‘mZ AgVo.
1) Ý ỳQ>ZMm {Z`‘ 2) nmñH$bMm {Z`‘
3) Amo‘Mm {Z`‘ 4) W‘m}S>m`Zm{‘ŠgMm Xwgam {Z`‘

7) Which law is given in the following statement ?

“The pressure or intensity of pressure a t a point in a static fluid is equal in all directions.”

1) Newton’s law 2) Pascal’s law

3) Ohm’s law 4) Second law of Thermodynamics

8)  ............. ñV§̂ mÀ`m ~H$qbJgmR>r bhmZ Vo bm§~ ñV§̂ m§n ª̀VÀ`m ñV§̂ m§À`m gd© Ho$goggmR>r `mo½` n[aUm‘ {‘iVmo.
1) ẁbaMo gyÌ 2) a±H$mB©ZMo gyÌ
3) ‘mohaMo gyÌ 4) Hw$bm°å~Mo gyÌ

8) ............. for buckling of column gives fairly correct result for all cases of columns ranging from

short to long columns.

1) Euler’s formula 2) Rankine’s formula

3) Mohr’s formula 4) Coulomb’s formula

9) MwH$sMo CÎma emoYm.
goVyÀ`m nm`mda H$m ©̀ H$aUmao ~b ........... ho Amho.
1) nm`mMo ñdV:Mo dOZ 2) A{YaMZoMo dOZ
3) CËWmZ Xm~ 4) n¥ÏdrMm Xm~

9) Find the incorrect answer.

‘Force acting on bridge foundation’, is  ................

1) Self-weight of foundation 2) Weight of superstructure

3) Uplift pressure 4) Earth pressure

10) Aj` D$Om© òmoV ........... åhUyZ AmoiIbo OmVmV.
1) àmW{‘H$ D$Om© òmoV 2) Xwæ`‘ D$Om© òmoV
3) ì`mdgm{`H$ D$Om© òmoV 4) Aj` D$Om© òmoV

10) Inexhaustible energy sources are known as .............

1) Primary energy sources 2) Secondary energy sources

3) Commercial energy sources 4) Renewable energy sources

11) EImXr dñVy  pñWa g‘Vmobm‘Ü ò Va§JVo Oa ............
1) ‘oQ>mg|Q>a JwéËdmH$f©U H|$ÐmÀ`m da Amho
2) ‘oQ>mg|{Q´H$ C§Mr eyÝ` Amho
3) JwéËdmH$f©U H|$Ð CN>mb H|$ÐmÀ`m da Amho
4) JwéËdmH$f©U H|$Ð Imbr Amho qH$dm CN>mb H|$Ð Amho

11) A body floats in stable equilibrium if the ............

1) metacentre is above the Centre of Gravity

2) metacentric height is zero

3) Centre of Gravity is above the centre of buoyancy

4) Centre of Gravity is below or a t the centre of buoyancy
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12) VmUboë`m AmXe© pñQ§́JÀ`m ~mOyZo bharMm doJ Adb§~yZ AgVmo
1) pñQ§́JÀ`m bharMr dma§dmaVm.
2) pñQ́§J‘Ü ò ’$º$ VUmd.
3) pñQ§́JMr ’$º$ aoIr` KZVm.
4) pñQ§́JMm VmU Am{U aoIr` KZVm XmoÝhr.

12) The speed of a wave along a stretched ideal string depends on

1) frequency of wave of the string.

2) only tension in the string.

3) only linear density of the string.

4) both tension and linear density of the string.

13) byO nmdS>aÀ`m ~m~VrV Kf©U eº$s ........ Ûmao ‘moObr OmVo.
1) {dKQ>Z MmMUr 2) dOZmMr EH$g‘mZVm
3) {dKQ>Z MmMUr 4) A±Jb Am°’$ [anmoP

13) The frictional forces in case of loose powder are measured by the .........

1) Dissolution test 2) Uniformity of weight.

3) Disintegration test 4) Angle of repose

14) D$O}Mo EH$m ê$nmVyZ Xwg`m© ê$nmV ê$nm§Va H$aVm ̀ oVo na§Vw Vr {Z‘m©U qH$dm Zï> H$aVm ̀ oV Zmhr. {dl²dmVrb EHy$U CO}Mo
à‘mU pñWa AgVo. ho ...... H$m`ÚmMo {dYmZ Amho.
1) JwéËdr` ~b 2) na‘mUw ~b
3) D$O}Mo g§dY©Z 4) amgm`{ZH$ JVremó

14) Energy can be transformed from one form to another but it cannot be created or destroyed. The

total amount of energy in a universe remains constant. This is the statement of Law of ......

1) Gravitational Force 2) Nuclear Force

3) Conservation of Energy 4) Chemical Kinetics

15) ............. hm Anma§n[aH$ D$Om© ómoV Zmhr
1) ndZ D$Om© 2) gm¡a D$Om© 3) Oc{dÚwV 4) ~m¶moJ¡g D$Om©

15) ............is not a non-conventional power source.

1) Wind power 2) Solar power 3) Hydro power 4) Bio-gas power

16) Imbrbn¡H$s H$moUVm CO}Mm àmW{‘H$ ómoV Amho?
1) O¡dB§YZ 2) H$ƒo Vob 3) J°gmobrZ 4) hm`S´moOZ

16) Which of the following is a primary source of energy ?

1) Biofuels 2) Crude oil 3) Gasoline 4) Hydrogen

17) ŷJ^u` D$Om© àH$ënmV Imbrbn¡H$s H$moUVo V§ÌkmZ dmnabo OmV Zmhr?
1) H$moaS>m àdmh 2) Amobm àdmh 3) âb°e àdmh  4) ~m`Zar MH«$

17) Which of the following technologies is NOT used in a geothernal power plant ?

1) Dry stream 2) Wet stream 3) Flash stream 4) Binary cycle



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : gm‘mÝ¶ {dkmZ / 18

For Private Circulation Only

18) Imbrbn¡H$s H$moUË`m àH$maÀ`m n§»`m§Mr H$m ©̀j‘Vm OmñVrV OmñV Amho?
1) àmonoba Ajr` n§Im 2) àoea ãbmoAa g|Q´râ ỳJb ’°Z
3) ao{S>`b g|Q´râ ỳJb ’°Z 4) ìhoZ Ajr` n§Im

18) Which of the following types of fans has the maximum efficiency ?

1) Propeller axial fan 2) Pressure blower centrifugal fan

3) Radial centrifugal fan 4) Vane axial fan

19) H$moUË`m àH$maMo àH$ën ŷ-Am¡pîUH$ Ðd dmnaVmV Oo Cî‘m EŠgM|Oa‘YyZ Xwæ`‘ ÐdnXmWm©Zo OmVmV Am{U Z§Va
Q>~m©BZ MmbdVmV, OZaoQ>a {’$aVmV Am{U drO {Z‘m©U H$aVmV?
1) âb°e ñQ>r‘ nm°da ßbm§Q²g 2) S´m` ñQ>r‘ nm°da ßbm§Q²g
3) ~m`Zar-gm`H$b nm°da ßbm§Q²g 4) S>m`aoŠQ> hrQ> Q´mÝg’$a nm°da ßbm§Q²g

19) Which types of plants use the geothermal fluids that pass through a heat exchanger with a

secondary fluid and then, drive the turbines, spin the generators and creat electricity ?

1) Flash steam power plants 2) Dry steam power plants

3) Binary-cycle power plants 4) Direct heat transfer power plants

20) H$moUË`m àH$maMo Q>~m©BZ bhmZ C§MrÀ`m ’$aH$mgh Bï>V‘ H$m ©̀àXe©Z gw{Z{íMV H$aVmV, na§Vw j‘Vo‘Ü ò ‘moR>çm
’$aH$m§gh XoIrb?
1) noëQ>Z Q>~m©BZ 2) H°$ßbZ Q>~m©BZ 3) ’«$mpÝgg Q>~m©BZ 4) Q>~m} Q>~m©BZ

20) Which type of turbine ensure optimum performance with small height difference, but also with

large variations in capacity ?

1) Pelton turbine 2) Kaplan turbine 3) Francis turbine 4) Turbo turbine

21) H°$ßbmZ Q>~m©BZ ................ À`m pñWVrgmR>r `mo½` Amho.
1) H$‘r S>moHo$ Am{U Cƒ ómd 2) Cƒ S>moHo$ Am{U H$‘r ómd
3) ‘Ü`‘ S>moHo$ Am{U ‘Ü`‘ ómd 4) darb gd©

21) Kaplan turbine is suitable for the condition of  ................

1) low head and high discharge 2) high head and low discharge

3) medium head and medium discharge 4) All of the above

22) g|Q´râ ỳJb n§n BÝñQ>m°boeZer g§~§{YV Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?
1) {S>ñMmO© H§$Q´mob ìhm°ëìh gŠeZ nmB©n‘Ü ò ~gdbobm Amho.
2) {S>{bìhar nmB©nÀ`m VwbZoV gŠeZ nmB©nMm ì`mg ‘moR>m AgVmo.
3) gŠeZ nmB©nbm ’y$Q> ìhm°ëìh Am{U JmiUr {Xbr OmVo.
4) {S>ñMmO© H§$Q´mob ìhm°ëìh {S>{bìhar nmB©n‘Ü ò ~gdbobm Amho.

22) Which of the following statements pertaining to centrifugal pump installation is incorrect ?

1) The discharge control valve is fitted in the suction pipe.

2) The suction pipe has larger diameter as compared to that of the delivery pipe.

3) The suction pipe is provided with a foot valve and a strainer.

4) The discharge control valve is fitted in the delivery pipe.
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23) nmañn[aH$ n§nmg ............... Ago åhUVmV.
1) ZH$mamË‘H$ {dñWmnZ n§n 2) gH$mamË‘H$ {dñWmnZ n§n
3) eyÝ` {dñWmnZ n§n 4) darb gd©

23) The reciprocating pump is called as  ................

1) negative displacement pump 2) positive displacement pump

3) zero displacement pump 4) All of the above

24) H|$ÐmngmaH$ n§nmgmR>r .............
1) pñWa S>moHo$ àdmhmnmgyZ ñdV§Ì AgVo Am{U Kf©U hoS> àdmhmda Adb§~yZ AgVo
2) pñWa S>moHo$ VgoM Kf©U hoS> àdmhmda Adb§~yZ AgVo
3) pñWa S>moHo$ àdmhmda Adb§~yZ AgVo Am{U Kf©U hoS> àdmhmnmgyZ ñdV§Ì AgVo
4) pñWa hoS> Am{U Kf©U hoS> XmoÝhr àdmhmnmgyZ ñdV§Ì AmhoV

24) For a centrifugal pump .............

1) Static head is independent of flow and friction head depends on flow

2) Static head as well as friction head depends on flow

3) Static head is dependent on flow and friction head is independent of flow

4) Both static head and friction head are independent of flow

25) n§nm‘Ü ò nmÊ`mÀ`m doJmMo ............ Zo Xm~m‘Ü ò ê$nm§Va hmoVo.
1) emâQ> 2) {S>â ỳPa 3) B§noba 4) {S>ñMmO© nmB©n

25) In a pump, water velocity is converted to pressure by .............

1) Shaft 2) Diffuser 3) Impeller 4) Discharge pipe

26) IS>H$m§‘Ü ò gwé§J bmdÊ`mMr Imbrbn¡H$s H$moUVr nÕV bmoH${à` Zmhr?
1) ’w$b-’o$g nÕV 2) Ý ỳPrb§S> nÕV
3) {S´âQ> nÕV 4) hoqS>J Am{U ~|qMJ nÕV

26) Which of the following methods is not the popular method of tunneling in rocks ?

1) Full-face method 2) New Zealand method

3) Drift method 4) Heading and Benching method

27) ^m¡{VH$ amer d Ë¶m ‘moOÊ¶mgmR>r dmnaÊ¶mV ¶oUmè¶m CnH$aUm§À¶m OmoS>çm bmdm.
a) hdoMm Xm~ i) S>o{g~b ‘rQ>a
b) dmè¶mMm doJ ii) {gñ‘mo ‘rQ>a
c) ŷH§$nmMr Vrd«Vm iii) ~°amo‘rQ>a
d) AmdmOmMr Vrd«Vm iv) A°{Z‘mo‘rQ>a
n¶m©¶r CÎmao …
1) (a)-(i), (b)-(ii), (c)-(ii), (d)-(iv) 2) (a)-(iii), (b)-(i), (c)-(ii), (d)-(iv)

3) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i) 4) (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)

27) Match the Physical quantities and the instruments used to measure it.

a) Air Pressure i) Decibel meter

b) Wind Speed ii) Seismo meter

c) Intensity of Earthquake iii) Barometer

d) Intensity of Sound iv) Anemometer

Answer options :

1) (a)-(i), (b)-(ii), (c)-(ii), (d)-(iv) 2) (a)-(iii), (b)-(i), (c)-(ii), (d)-(iv)

3) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i) 4) (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)
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2) CîUVm
1) Iam~ hmoD$ Z ò åhUyZ BÝgw{bZ B§OoŠeZ ............ Vmn‘mZmg gmR>dyZ R>odVmV.

1) 150go Vo 250go 2) 20go Vo 80go 3) -200go 3) -800go
1)  To avoid spoilage insulin injection should be stored at ............

1) 150C to 250C 2) 2 0C to 80 C 3) -200 C 3) -800 C

2) ’$m‘m©ñ ẁ{Q>H$b Am{U d¡ÚH$s` CËnmXZm§À`m {ZOªVwH$sH$aUmgmR>r ~mînObr¶ dm’o$Ûmao {ZOªVwH$sH$aU à{H«$¶m ..........
ñQ>r‘-ñQ>oabm`PoeZ Vmn‘mZmgm nma nmS>br OmVo.
1) 1210go 2) 160 0go 3) 450 0go 4) 6000go

2) Steam-sterlization temperature employed in moist heat sterlization of pharmaceutical and medical

products.

1) 1210 C 2) 160 0C 3) 450 0C 4) 6000 C

3) ‘wcmMm Vmn 1040 F Amho. ho Vmn‘mZ {H$Vr {S>J«r gopëg¶g Amho ?
1) 350  gopëg¶g 2) 370  gopëg¶g 3) 390  gopëg¶g 4) 400 gopëg¶g

3) The fever of a child is 104°F. What is this temperature in degree Celsius ?

1) 35°C 2) 37°C 3) 39°C 4) 40°C

4) H$mMoMr ̂ m§S>r, g§X§e, H$mÌr {ZOªVwH$ H$aÊ`mgmR>r amIÊ`mMm {e’$mag Ho$bobm H$mbmdYr Am{U Vmn‘mZ ______ Amho.
1) 45 {‘{ZQ>m§gmR>r 120°C 2) 60 {‘{ZQ>m§gmR>r 160°C

3) 7.5 {‘{ZQ>m§gmR>r 180°C 4) 30 {‘{ZQ>m§gmR>r 180°C

4) The recommended holding period and temperature to be maintained for sterilising glassware,

forceps, scissors is ______.

1) 120°C for 45 minutes 2) 160°C for 60 minutes

3) 180°C for 7.5 minutes 4) 180°C for 30 minutes

5) 15 m3/Vmg nmUr 210C Vo 150C n ª̀V W§S> Ho$ë`mda TR ‘Ü ò ao{’«$OaoeZ bmoS> H$m` Amho?
1) 15TR 2) 25TR 3) 29.76 TR 4) 30.24 TR

5) What is refrigeration load in TR when 15 m3/hr of water is cooled from 21°C to 15°C ?

1) 15TR 2) 25TR 3) 29.76 TR 4) 30.24 TR

6) ao{’«$OaoeZMo 1TR ............ Amho.
1) 2550 kcal/Vmg 2) 3024 kcal/Vmg 3) 4100 kcal/Vmg 4) 4210 kcal/Vmg

6) 1TR of refrigeration is .............

1) 2550 kcal/hr 2) 3024 kcal/hr 3) 4100 kcallhr 4) 4210 keal/hr

7) ‘mZH$ dm ẁ‘§S>br` Xm~mda, CËH$bZ q~Xy Á`mMm CFC gdm©V H$‘r Amho .............
1) Ama-11 2) Ama-12 3) Ama-22 4) Ama-502

7) At standard atmospheric pressure, boiling point of which CFC is the lowest  .............

1) R-11 2) R-12 3) R-22 4) R-502
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8) J°g ^aboë`m Ho$~ëg‘Ü ò gmYmaUnUo .............. dm ỳMm dmna gw‘mao ........ Xm~mZo hmoVmo.
1) hm`S´moOZ, 12 Vo 15 dmVmdaU 2) Zm`Q´moOZ, 12 Vo 15 dmVmdaU
3) Am°pŠgOZ, 5 Vo 10 dmVmdaU 4) gë’$a, 5 Vo 10 dmVmdaU

8) In gas filled cables generally .............. gas is used at a pressure of about ........

1) Hydrogen, 12 to 15 atmospheres 2) Nitrogen, 12 to 15 atmospheres

3) Oxygen, 5 to 10 atmospheres 4) Sulphur, 5 to 10 atmospheres

9) ‘hmamï´> H$maImZm {Z`‘, 1963 ‘Ü ò, g§X^m©Zwgma AÝ`Wm Amdí`H$ Zgë`mg, "{S>J«r' (qH$dm Vmn‘mZ) åhUOo
A§e......
1) g|Q>rJ«oS> ñHo$bda 2) H°$barO
3) ’°$aoZhmBQ> ñHo$bda 4) {~«{Q>e W‘©b ẁ{ZQ²g

9) In Maharashtra Factories Rules, 1963, unless the context otherwise requires, ‘Degrees’ (or

temperature) means degrees ......

1) On the centigrade scale 2) Calories

3) On the Fahrenheit scale 4) British thermal units

10) ............ øm nXmWmªMm à{VamoYH$Vm {ZUm©¶H$ (critical)  Vmn‘mZmÀ¶m Imcr eyÝ¶ hmoVo.
1) dmhH$ 2) amoYH$ 3) A{VdmhH$ 4) ¶mn¡H$s Zmhr

10) ............. are materials whose resistivities become zero below a critical temperature.

1) Conductors 2) Insulators 3) Super conductors 4) None of these

11) ÐdnXmWm©Mo {d{eï> AmH$ma‘mZ ........... Mo nañna Amho.
1) KZVm 2) gmnoj KZVm 3) {d{eï> dOZ 4) {d{eï> JwéËd

11) The specific volume of a fluid is the reciprocal of ...........

1) density 2) relative density 3) specific weight 4) specific gravity

12) H$moaS>çm CîUVm {ZOªVwH$sH$aUm‘Ü ò Imbrbn¡H$s H$moUË¶m {ZOªVwH$sH$aU ‘mnX§S>mMo n[aajU Ho$bo OmVo ?
1) J°g H$m°ÝgÝQ´>oeZ 2) Vmn‘mZ
3) {H$aUmoËgJm©Mo àXe©Z 3) ao{S>EeZ S>mog

12) One among the following sterilization parameter is monitored in dry heat sterlization.

1)  Gas concentration 2) Temperature

3) Exposure to radiation 3) Radiation dose

13) H$moëS> ñQ>moaoO ao{’«$OaoeZ {gñQ>‘‘Ü ò Cƒ-Xm~ Ðd H§$S>oÝgoQ> H$moR>o gmR>dbo OmVo?
1) H§$S>oÝga 2) {dñVma dmëd 3) ~mînr^dH$ 4) àmáH$Vm©

13) Where is the high-pressure liquid condensate stored in the cold stroage refrigeration system ?

1) Condenser 2) Expansion valve 3) Evaporator 4) Receiver

14) KaJwVr ao{’«$OaoQ>a‘Ü ò ao{’«$Oa§Q>Mm {dñVma ............ ‘Ü ò Ho$bm OmVmo.
1) g§M`H$ 2) S´m`a 3) Ho${eH$m Zir 4) `mn¡H$s Zmhr

14) The expansion of the refrigerant in domestic refrigerator is carried out in .............

1) Accumulator 2) Drier 3) Capillary tube 4) None of these



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : gm‘mÝ¶ {dkmZ / 22

For Private Circulation Only

15) H$m°§àogaÀ`m {dñWmnZmg {dV[aV ‘wº$ hdoMo JwUmoÎma ............ åhUVmV.
1) g‘Vmnr` H$m ©̀j‘Vm 2) EHy$U H$m ©̀j‘Vm
3) ìhm°ë ỳ‘o{Q´H$ H$m ©̀j‘Vm 4) EAa S´m`a H$m ©̀j‘Vm

15) Ratio of free air delivered to compressor displacement is called .............

1) Isothermal efficiency 2) Total efficiency

3) Volumetric efficiency 4) Air drier efficiency

16) HVAC àUmbrVrb dm ẁdrOZ §̀ÌUogmR>r Imbrb {dYmZo gË` AmhoV H$s ImoQ>r AmhoV Vo gm§Jm.
{dYmZ 1 : VmOo nwadR>m gw{Z{íM H$aÊ`mgmR>r Vo ~mhoarb hdoer AmVrb hdoMr XodmUKodmU H$aVo.
{dYmZ 2 : Vo hdm {’$ëQ>a H$aÊ`mV qH$dm AmÐ©VoMr `mo½` nmVir amIÊ`mV ŷ{‘H$m ~OmdVo.
n¶m©¶r CÎmao …
1) XmoÝhr {dYmZo gË` AmhoV 2) {dYmZ 1 gË` Amho na§Vw {dYmZ 2 ImoQ>o Amho
3) {dYmZ 2 gË` Amho na§Vw {dYmZ 1 ImoQ>o Amho 4) XmoÝhr {dYmZo AgË` AmhoV

16) State whether the following statements for the ventilation mechanism in the HVAC system are

true or false.

Statement 1 : It exchanges inside air with outside air to ensure a fresh supply.

Statement 2 : It plays a role in filtering the air or maintaining the proper level of humidity.

Answer options :

1) Both the statements are true 2) Statement 1 is true but Statement 2 is false

3) Statement 2 is true but Statement 1 is false 4) Both the statements are false

17) hdoVrb AmÐ©Vm dmT>dÊ`mgmR>r qH$dm {Q>H$dyZ R>odÊ`mÀ`m CÔoemZo dmVmZwHy${bV OmJoV hdo‘Ü ò nmÊ`mMr dm’$ OmoS>Ê`mMr
à{H«$`m Imbrb à‘mUo AmoiIbr OmVo:
1) gm’$ H$aUo 2) W§S> H$aUo 3) dehumidifyiung 4) humidifying

17) The process of adding water vapour to the air in the conditioned space for the purpose of raising

or maintaining the moisture content of the air is known as :

1) cleaning 2) cooling 3) dehumidifyiung 4) humidifying

18) ~mîn H$åàoeZ ao{’«$OaoeZ {gñQ>‘‘Ü ò Imbrb Jmoï>tMm g‘mdoe Amho:
1) H§$àoga, H§$S>oÝga, {dñVma dmëd Am{U CîUVm n§n
2) H§$àoga, H§$S>oÝga, CîUVm n§n Am{U ~mînr^dH$
3) H§$àoga, CîUVm n§n, {dñVma dmëd Am{U ~mînr^dH$
4) H§$àoga, H§$S>oÝga, {dñVma dmëd Am{U ~mînr^dH$

18) The vapour compression refrigeration system comprises of :

1) compressor, condenser, expansion valve, and heat pump

2) compressor, condenser, heat pump, and evaporator

3) compressor, heat pump, expansion valve, and evaporator

4) compressor, condenser, expansion valve, and evaporator

19) Imbrbn¡H$s H$moUVm CîUVm n§n Ðd àdmhmMo Vmn‘mZ {Z §̀{ÌV H$aÊ`mgmR>r ao{’«$OaoeZ gm`H$b dmnaVmo?
1) EAa-Qy>-EAa CîUVm n§n 2) hdm Vo nmÊ`mMo CîUVm n§n
3) {OAmoW‘©b CîUVm n§n 4) EAa-Qy>-EAa hrQ> n§n Am{U EAa-Qy>-dm°Q>a hrQ> n§n XmoÝhr
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19) Which of the following heat pumps use the refrigeration cycle to mainpulate the temerature of a

fluid stream ?

1) Air-to-air heat pumps 2) Air-to-water heat pumps

3) Geothermal heat pumps 4) Both air-to-air heat pumps and air-to-water heat pumps

20) B‘maVr‘Ü ò Ja‘ H$aUo, hdoera H$aUo Am{U dmVmZwHy${bV H$aUo hm àmW{‘H$ CÔoe ............ Amho.
1) CîUVm D$Om© OmoSy>Z qH$dm H$mTy>Z Q>mHy$Z H$moaS>çm ~ë~Mo Vmn‘mZ, AmÐ©Vm Am{U hdoMr JwUdÎmm {Z §̀{ÌV H$aUo
2) hdm OmoSy>Z qH$dm H$mTy>Z Q>mHy$Z ImobrVrb hdoMo Vmn‘mZ W§S> H$aUo
3) CîUVm D$Om© H$mTy>Z hdoMo Vmn‘mZ W§S> H$aUo
4) darbn¡H$s H$mhrhr Zmhr

20) The primary purpose of heating, ventilating and air conditioning in the building is .............

1) toregulate the dry bulb temperature, humidity and air quality by adding or removing heat energy

2) to cool the air temperature in room by adding or removing air

3) to cool the air temperature by removing heat energy

4) none of the above

3) bhar - àH$me, ÜdZr
1) Oa EImXr dñVy 360 A§emV {Vaß¶m AgUmè¶m XmoZ g‘Vc Amaem§‘Ü¶o g‘ê$n R>odcr, Va {H$Vr à{V‘m V¶ma hmoVrc?

1) 8 2) 9 3) 10 4) 11
1) If an object is placed symmetrically hetween two plane mirrors inclined at an angle of 36°, then

how many images will be formed ?

1) 8 2) 9 3) 10 4) 11

2) ‘hmamï´> ’°ŠQ>arO {Z`‘ 1963 Zwgma, n°goOdo, H$m°[aS>m°a Am{U nm`è`m§‘Ü ò àH$memMr {H$‘mZ Vrd«Vm ...... bŠg
Agmdr.
1) 10 2) 50 3) 90 4) 160

2) As per Maharashtra Factories Rules 1963, the minimum intensity of illumination in passageways,

corridors and stairways shall be ...... Lux.

1) 10 2) 50 3) 90 4) 160

3) BÝH°$ÝS>oÝg|Q> {Xdo gmYmaUnUo ............ À`m nm°da ’°$ŠQ>ada MmbVmV.
1) 0.6 b°qJJ 2) 0.707 b°qJJ 3) 0.8 AJ«JÊ` 4) EH$Vm

3) Incandescent lamps normally operates at a power factor of .............

1) 0.6 lagging 2) 0.707 lagging 3) 0.8 leading 4) unity

4) EbB©S>r bmB©Q>Mo Am ẁî` ............ n ª̀V Amho.
1) 1,000 Vmg 2) 3,000 Vmg 3) 4,000 Vmg 4) 1,00,000 Vmg

4) LED light life span is upto .............

1) 1,000 hours 2) 3,000 hours 3) 4,000 hours 4) 1,00,000 hours
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5) à{V‘oMo dU©Z d dmMZ H$aÊ¶mgmR>r nwT>rbn¡H$s H$moUVm KQ>H$ dmnabm OmV Zmhr?
A) H$bXe©H$ H|$Ð ~) dU©N>Q>m H$) N>m¶m S>) AmH$ma
n¶m©¶r CÎmao …
1) ’$º$ A 2) A Am{U ~ 3) ’$º$ ~ 4) H$ Am{U S>

5) Which of the following factor is not used to describe and read image?

A) Focus of tilt B) Tone C) Shadow D) Shape

Answer options :

1) Only A 2) A and B 3) Only B 4) C and D

6) crdZhÿH$Zo H$m¶ Ho$co ?
1) ~ma³¶m {H$S>çm§nmgyZ AÞgmR>m ~Zdcm 2) àM{cV g‘mOì¶dñWocm nmR>~i {Xco.
3) CËñ’y$V© OZZmMm {gÕm§V ‘m§S>cm 4) { §̂J VmgyZ ~ma³¶m {H$S>çm§Mo {ZarjU Ho$co.

6) According to this passage, what did Leeuwenhoek do ?

1) He created a focd reserve out of small microbes

2) He supported the established social system

3) He proposed the theory of arbitrary creation

4) He sharpened the lens and observed small microbes

7) {d{eï> nXmWm©gmR>r AndV©ZmMm {ZX}em§H$ ............ Mo JwUmoÎma Amho.
1) {Zdm©VmVrb àH$memMm doJ Vo nXmWm©Vrb àH$memMm doJ
2) nXmWm©Vrb àH$memMm doJ Vo {Zdm©VmVrb àH$memMm doJ
3) darb XmoÝhr
4) darbn¡H$s H$mhrhr Zmhr

7) The index of refraction for a particular material is the ratio of .............

1) Speed of light in vacuum to the speed of light in material

2) Speed of light in material to speed of light in vacuum

3) Both of the above

4) None of the above

8) ‘moR>çm A§Vamdarb dñVy nmhVmZm S>moù`mMr boÝg gnmQ> hmoVo Am{U Ë`mMr ’$moH$b bm§~r ......, OdiÀ`m dñVy nmhVmZm
boÝg A{YH$ JmobmH$ma hmoVo Am{U Ë`mMr ’$moH$b bm§~r ......
1) KQ>Vo, dmT>Vo 2) dmT>Vo, H$‘r hmoVo
3) KQ>Vo, pñWa amhVo 4) pñWa amhVo, dmT>Vo

8) While seeing objects at large distances, the lens of the eye becomes flat and its focal length ......,

while seeing nearby objects the lens becomes more rounded and its focal length ......

1) decreases, increases 2) increases, decreases

3) decreases, remains constant 4) remains constant, increases

9) Imbrbn¡H$s H$moUË`m {Xì`mMo gamgar Am ẁî` gdm©{YH$ Amho?
1) gmo{S>`‘ ìhona {Xdm 2) nmam dm’o$Mm {Xdm
3) BÝH°$ÝS>oÝg|Q> {Xdm 4) âbmoamog|Q> {Xdm

9) Average life of which of the following lamp is highest ?

1) Sodium vapour lamp 2) Mercury vapour lamp

3) Incandescent lamp 4) Fluorescent lamp
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10) añË`mdarb àH$memgmR>r Imbrbn¡H$s H$moUVm {Xdm A{YH$ `mo½` Amho?
1) h°bmoOZ {Xdm 2) Cƒ Xm~mMm nmam {Xdm
3) Cƒ Xm~ gmo{S>`‘ {Xdm 4) ‘oQ>b h°bmBS> {Xdm

10) Which of the following lamps is more suitable for street lighting ?

1) Halogen lamp 2) High pressure mercury lamp

3) High pressure sodium lamp 4) Metal halide lamp

11) ~moJÚmÀ`m àH$memer g§~§{YV Imbrb {dYmZo {dMmamV ¿`m:
A) {Xì`m§Mo A§Va àH$me òmoVmÀ`m AmH$mamda Adb§~yZ Agob.
~) {Xì`m§Mo A§Va ~moJÚmÀ`m n[a‘mUm§da Adb§~yZ Agob.
H$)  OmñV d°Q>oOMo H$‘r {Xdo AgUo Bï> Amho.
S>) bhmZ d°Q>oOMo A{YH$ {Xdo AgUo Bï> Amho.
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
1) (A) Am{U (~) 2) (A), (H$) Am{U (S>)
3) (A), (~) Am{U (S>) 4) (~) Am{U (H$)

11) Consider the following statements related to tunnel lighting :

a) The spacing of lights will depend on size of light source.

b) The spacing of lights will depend on tunnel dimensions.

c) It is desirable to have few lights of more wattage.

d) It is desirable to have more lights of small wattage.

Which of the above statements are correct ?

1) (a) and (b) 2) (a), (c) and (d) 3) (a), (b) and (d) 4) (b) and (c)

12) Imbrb {dYmZo {dMmamV ¿¶m …
a) Á¶m ‘mÜ¶‘m§Mm AndV©Z {ZX}em§H$ (RI) àH$memÀ¶m dma§dm[aVoda Adb§~yZ AgVmo. VoWo àH$memMo {d{H$arH$aU hmoVo.
b) gd© nXmW©-‘mÜ¶‘o {d{H$arH$aU H$aUmao AmhoV, ’$º$ {Zdm©V nmoH$ir {d{H$arH$aU H$aUmar Zmhr.
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
1) (a) ’$º$ 2) (a) d (b) XmoÝhr 3) (b) ’$º$ 4) darbn¡H$s H$moUVohr Zmhr

12) Consider the following statements.

a) Dispersion of light arises where the refractive index of a medium is frequency dependant.

b) All material media are dispersive; only vacuum is nondispersive.

Which of the statement given above is/are correct ?

1) (a) only 2) (a) and (b) both 3) (b) only 4) None of the above

13) '‘m¶monr¶m' hm 'bKwÑï>rXmof' AgyZ Vmo ¶m H$maUm‘wio hmoVmo...
1) dñVyMr à{V‘m Ñï>rnQ>bmÀ¶m nwT>o V¶ma hmoVo, nU Ñï>rnQ>bmda ZgVo.
2) dñVyMr à{V‘m Ñï>rnQ>bmÀ¶m ‘mJo nS>Vo.
3) dñVyMr à{V‘m Ñï>rnQ>bmda nS>Vo.
4) darbn¡H$s Zmhr.

13) Myopia is an eye defect known as ‘near-sightedness’, and is caused due to the reason that ....

1) the image of an object is formed infront of the retina and not on the retina.

2) the image of an object is formed beyond the retina.

3) the image of an object is formed exactly on the retina.

4) None of the above.
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bhar -ÜdZr
1) Vmn‘mZmVrb àË¶oH$ 1OC dmT>rgmR>r hdoVrb ÜdZrMm doJ ............... go.‘r./goH§$X Zo dmT>Vmo.

1) 6.1 2) 0.61 3) 61 4) 16
1) For each 1°C rise in temperature, the speed of sound in air increases by ........... cm/s.

1) 6.1 2) 0.61 3) 61 4) 16

2) ‘hmamï´> ’°ŠQ>arO {Z`‘ 1963 Zwgma, àË òH$ H$maImÝ`mV, OmñVrV OmñV nadmZJr`mo½` ÜdZr EŠgnmoOa nmVir,
gVV qH$dm AZoH$ AënH$mbrZ EŠgnmoOa, XaamoO AmR> Vmgm§gmR>r ...... Amho.
1) 40 dBA 2) 90 dBA 3) 120 dBA 4) 140 dBA

2) As per Maharashtra Factories Rules 1963, in every factory, the maximum permissible noise

exposure levels, continuous or a number of short-term exposures, for eight hours per day is ......

1) 40 dBA 2) 90 dBA 3) 120 dBA 4) 140 dBA

3) Imbrbn¡H$s H$moUVo Va§J ho ¶m§{ÌH$ Va§Jm§Mo CXmhaU Amho?
1) àH$me Va§J 2) ÜdZr Va§J 3) ao{S>Amo Va§J 4) Xÿa{MÌdmUr Va§J

3) Which of the following is an example of a mechanical wave ?

1) Light wave 2) Sound wave 3) Radio wave 4) Television wave

4) {dÚwVMw§~H$s¶ bhar
1) ‘mZdmgmR>r {H$aUmoËgJm©Mm àmUKmVH$ S>mog Amho

1) 102-103 a°S>g 2) 103 -105 a°S>g 3) 107 -109 a°S>g 4) 105-107 a°S>g
1) The lethal dose of irradiation for human being is

1) 102-103 rads 2) 103 -105 rads 3) 107 -109 rads 4) 105-107 rads

2) n¥Ïdrbm gw‘mao 300° K Mo CËg{O©V hmoUmao H¥$îU eara ‘mZbo OmVo Am{U  Vr gw‘mao 9.7 ‘m`H«$mo‘rQ>a ........... À¶m
àmaUm§Mo CËgO©Z H$aVo.
1) {dÚwV Mw§~H$s` {d{H$aU 2) bKw bhar {d{H$aU
3) BÝewcoeZ 4) j-{H$aU

2) The earths considered a black body at about 300° K emitting with peak emission at around 9.7

micrometre ..........

1) electro-magnetic radiation 2) short wave radiation

3) insulation 4) X-ray

3) Ooìhm α  - H$U {H$aUmoËgmar KQ>H$mVyZ ~mhoa nS>VmV Voìhm ...........
1) AUwA§H$ 2 Zo H$‘r hmoVmo Am{U AUwdñVw‘mZm§H$ 4 Zo H$‘r hmoVmo.
2) AUwA§H$ 1 Zo H$‘r hmoVmo Am{U AUwdñVw‘mZm§H$ 2 Zo H$‘r hmoVmo.
3) AUwA§H$ 1 Zo dmT>Vmo.
4) AUwA§H$ Am{U AUwdñVw‘mZ§mH$ ~XcV Zmhr.
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3) When  particle emits from a radioactive element then

1) atomic number decreases by 2 and mass number decreases by 4

2) atomic number decreases by 1 and mass number decreases by 2

3) atomic number increases by 1

4) atomic number and mass number remains same

4) Imbrbn¡H$s H$moUVo gdm©V ôXH$ Amho?
1) Aë’$m H$U 2) Bbo³Q´>m°Z 3) nm°PrQ´>m°Z 4) J°‘m {H$aU

4) Which of the following is the most penetrating ?

1) An alpha particle 2) An electron 3) A positron 4) A gamma ray

5) {g[a¨OogMo {ZOªVwH$sH$aU H$aÊ¶mgmR>r gm‘mÝ¶nUo ....... Mm dmna Ho$bm OmVmo.
1) d¡pídH$ {H$aU 2) Aë’$m {H$aU 3) ~rQ>m {H$aU 4) J°‘m {H$aU

5) Syringes are commonly sterlized by employing .........

1) Cosmic rays 2) Alpha rays 3) Beta rays 4) Gamma rays

6) àdoemMo ‘mJ©, Am°naoeZ {WEQ>a Am{U à`moJemim `m§gma»`m ~§{XñV ^mJm§Mo {ZOªVwH$sH$aU ...... dmnê$Z Ho$bo OmVo.
1) BÝ’«$maoS> {d{H$aU 2) A{VZrb {H$aUo
3) Cƒ D$Om© BboŠQ´m°Z {d{H$aU 4) Jm‘m {d{H$aU

6) Disinfection of enclosed areas such as entry ways, Operation theatres and laboratories are done

by using ......

1) Infrared radiation 2) Ultraviolet radiation

3) High energy electron radiation 4) Gamma radiation

7) nmoH$i Ad`dmÀ`m {N>ÐmgmR>r AmXe© n{hbr MmMUr ...... Amho.
1) N>mVrMm j-{H$aU 2) grQ>r ñH°$Z nmoQ>
3) USG CXa 4) E§S>moñH$monr

7) The ideal first test for hollow organ perforation is .......

1) The erect chest X – ray 2) CT scan abdomen

3) USG abdomen 4) Endoscopy

8) doëS>aÛmao dmnaë`m OmUmè`m Img {S>PmBZ Ho$boë`m Mîå`m§Zm åhUVmV:
1) amgm`{ZH$ g§ajU Jm°Jëg 2) Cƒ à^md Agbobo Jm°Jb
3) àXyfU{damoYr Mî‘m 4) H$mo~mëQ> ãby boÝggmaIo N>m`m§{H$V Mî‘m

8) Specially designed glasses that are used by a welder are called:

1) chemical protection goggles 2) high impact goggles

3) anti contamination glasses 4) shaded glasses like cobalt blue lenses

9) nmoëQ´r CËnmXZm§‘Ü ò AÞ {d{H$aUmMm CÔoe H$m` Amho?
1) A§Hw$a ’w$Q>Uo 2) naOrdr Zï> hmoUo
3) gmc‘moZocm {ZpîH«$` H$aUo 4) AÞ KQ>H$m§Mo {ZOªVwH$sH$aU

9) What is purpose of food irradiation in poultry products ?

1) Inhibition of sprouting 2) Destruction of parasite

3) Inactivation of salmonella 4) Decontamination of food ingredients
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10) nmU~wS>rVrb ŷJ^m©Vrb nmÊ`mMm {dgJ© VQ>r` nmÊ`mVrb ......... dmnê$Z CÎm‘ àH$mao emoYbm OmD$ eH$Vmo.
1) NIR  B‘oOar 2) aS>ma B‘oOar 3) W‘©b B‘oOar 4) LiDAR B‘oOar

10) Submarine groundwater discharge in coastal waters can be best detected using ...........

1) NIR imagery 2) Radar imagery 3) Thermal imagery 4) LiDAR imagery

5) ‘mnZ nÕVr
1) Am§Va-VmaH$s¶ A§Vao hr àH$me df© ¶m EH$H$mV ‘moObr OmVmV. EH$ àH$me df©© =

1) 1.4 × 1011 m 2) 9.46 × 1015 m 3) 37.84 × 1015 m 4) 150 × 108 m
1) The inter-stellar distances are measured in light years. 1 light year =

1) 1.4 × 1011 m 2) 9.46 × 1015 m 3) 37.84 × 1015 m 4) 150 × 108 m

2) 1 KZ‘rQ>a ^aUmè`m 36 J«°‘ nmÊ`mMo à‘mU {H$Vr Amho?
1) 1 mole/m3 2) 2 mole/m3 3) 11 mole/m3 4) 22 mole/m3

2) What is the concentration of 36 g of water that fills 1 cubic metre?

1) 1 mole/m3 2) 2 mole/m3 3) 11 mole/m3 4) 22 mole/m3

3) Oyb/goH§$X `mbm ......... Agohr åhUVmV.
1) kWh 2) W 3) Wb/s 4) kWh/s

3) Joules/second is also called as  .............

1) kWh 2) W 3) Wb/s 4) kWh/s

4) à{V Mm¡ag ‘rQ>a EH$ bw‘oZ ............ gmaIo Amho.
1) EH$ bŠg 2) EH$ ‘oU~Îmr 3) EH$ ’y$Q> ‘oU~Îmr 4) EH$ bw‘oZ ‘rQ>a

4) One lumen per square meter is same as .............

1) One lux 2) One candle 3) One foot candle 4) One lumen meter

5) bmB©qQ>J {gñQ>r‘‘Ü ò ñWm{nV bmoS> B{’$H°$grMo EH$H$ H$m` Amho?
1) d°Q²g à{V bw‘oZ (W/lm)

2) bw‘oZ à{V g{H©$Q> d°Q> (lm/W)

3) d°Q²g à{V Mm¡ag ‘rQ>a à{V 100 bŠg (W/m2/100 lux)

4) bŠg à{V d°Q> à{V Mm¡ag ‘rQ>a (bŠg/S>ãë ỳ/E‘2)
5) What is the unit of installed load efficacy in a lighting system ?

1) Watts per lumen (W/lm)

2) Lumens per circuit watt (lm/W)

3) Watts per square metre per 100 lux (W/m2/100 lux)

4) Lux per watt per square metre (lux/W/m2)

6) {d{eï> CîUVoMo, gr. Or. Eg. àUmbrVrb EH$H$ ........... ho Amho.
1) H°$barO/J«°‘ 2) H°$carO/J«°‘ {S>J«r gopëgAg
3) H°$carO {S>J«r gopëgAg/J«°‘ 4) darbn¡H$s H$moUVoM Zmhr



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : gm‘mÝ¶ {dkmZ / 29

For Private Circulation Only

6) Unit of specific heat in C.G.S. system is

1) Callories/gram 2) Calories/gramOC

3) Calories OC/gram 4) None of these

7) UPS ~°Q>ar gobMr j‘Vm ............ ‘Ü ò ‘moObr OmVo.
1) d°Q> Vmg 2) d°Q²g 3) A±{nAa 4) A±{nAa-Vmg

7) Capacity of UPS battery cell is measured in .............

1) Watt hours 2) Watts 3) Amperes 4) Ampere-hour

8)  pñWam§H$, ho J{UVr¶ {dYmZ ............. ¶m ZmdmZo AmoiIco OmVo.

1) gmVË¶ g‘rH$aU 2) ~Zm}crMo g‘rH$aU
3) nmñH$cMm g‘rH$aU 4) ¶wcaMo g‘rH$aU

8)  constant is the mathematical statement of

1) Equation of continuity 2) Bernoulli’s equation

3) Pascal’s law 4) Euler’s equation

9) dm ỳ àXyfUmÀ`m ~m~VrV, {g‘|Q> Yyi Am{U âbm` A°eMo H$U AmH$ma‘mZmÀ`m loUrV òVmV.
1) 0.001 Vo 0.01 {‘‘r 2) 0.01 Vo 100 {‘‘r
3) 100 Vo 1000 {‘‘r 4) 1000 Vo 2000 {‘‘r

9) In case of air pollution, particle size of cement dust and fly ash falls in the range of

1) 0.001 to 0.01 µm 2) 0.01 to 100 µm

3) 100 to 1000 µm 4) 1000 to 2000 µm

10) Oa EH$ bmBZ NW MVwWmªemV Agob Am{U Ë`mMo g§nyU© dVw©imMo ~oA[a¨J 2750 Agob, Va Ë`mMo H$‘r Pmbobo ~oA[a¨J
...... Agob.
1) 105 2) 95 3) 85 4) 75

10) If a line is in NW quadrant and its whole circle bearing is 275°, its reduced bearing will be

1) 105 2) 95 3) 85 4) 75

11) EHy$U ~rAmoS>rn¡H$s {H$Vr Q> o̧$ gm§S>nmÊ`mMm n{hbm Q>ßnm ~rAmoS>r Amho?
1) 90% 2) 100% 3) 99% 4) 98.5%

11) How much percentage of the total BOD is the first stage BOD for sewage ?

1) 90% 2) 100% 3) 99% 4) 98.5%

12) ^maVr` ‘mZH$ ã ẁamo (BIS)  Ûmao A`mo½`VogmR>r EHy$U TDS gmR>r {nÊ`mÀ`m nmÊ`mMr ‘mZHo$ H$moUVr {Z{X©ï> Ho$br
AmhoV?
1) Q>rS>rEg 4000-5000 {‘J«°/{bQ>a 2) Q>rS>rEg 3000-4000 {‘J«°/{bQ>a
3) Q>rS>rEg 2000-3000 {‘J«°/{bQ>a 4)  TDS  2000 {‘J«°/{bQ>a

12) What are the drinking water standards specified for total TDS by the Bureau of Indian Standards

(BIS) for unsuitability ?

1) TDS 4000-5000 Mg/litre 2) TDS 3000-4000 Mg/litre

3) TDS 2000-3000 Mg/litre 4) TDS upto 2000 Mg/litre
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13) EH$m ẁ{ZQ> hm`S´moJ«m’$‘Ü ò ................ Mo EH$ ẁ{ZQ> AgVo.
1) à^mdr nO©Ý`‘mZ H$mbmdYr 2) H$‘mb {dgO©Z
3) hm`S´moJ«m’$ Q>mB‘ ~og 4) 1 go‘r à^mdr nmdgm‘wio WoQ> àdmh

13) A unit hydrograph consists of one unit of  ................

1) effective rainfall duration 2) peak discharge

3) hydrograph time base 4) direct runoff due to 1 cm effective rainfall

14) ‘oQ>mg|{Q´H$ C§Mr ................ ‘Yrb A§Va Amho.
1) Va§JUmè`m earamMo JwéËdmH$f©U H|$Ð Am{U CN>mb H|$Ð.
2) Va§JË`m earamMo JwéËdmH$f©U H|$Ð Am{U ‘oQ>mg|Q>a.
3) ‘oQ>mg|Q>a Am{U CN>mb H|$Ð.
4) CÎmoOH$VoMo ‘yi H|$Ð Am{U CbmT>mbrMo ZdrZ H|$Ð.

14) The metacentric height is the distance between the  ................

1) centre of gravity of the floating body and the centre of buoyancy.

2) centre of gravity of the floating body and the metacentre.

3) metacentre and centre of buoyancy.

4) original centre of buoyancy and new centre of buoyancy.

15) Imbrbn¡H$s H$moUVo n[a‘mUhrZ à‘mU Amho?
1) Q´mÝg{‘{gpìhQ>r 2) hm`S´m°{bH$ MmbH$Vm
3) g§Hw${MVVm 4) ñQ>moaoO JwUm§H$

15) Which of the following is a dimensionless quantity ?

1) Transmissivity 2) Hydraulic conductivity

3) Compressibility 4) Storage coefficient

16) âb²̀ w‘ hm M°ZobMm H¥${Ì‘[aË`m Aé§X Ho$bobm {d^mJ Amho Omo ................ gmR>r dmnabm OmVmo.
1) ~±H$s̈J gwajogmR>r 2) Jmi H$mT>Uo
3) àdmh didUo 4) òmd ‘moOUo

16) Flume is an artificially narrowed section of the channel which is used for  ................

1) protecting the banks 2) removal of silt

3) diverting the flow 4) measuring the discharge

17) WoQ> gm¡a {d{H$aU ‘moOÊ`mMo gmYZ Amho
1) ~°amo‘rQ>a 2) gZemB©Z [aS>a 3) hm`J«mo‘rQ>a 4) nm`ao{bAmo‘rQ>a

17) Direct Solar radiation measuring instrument is

1) Barometer 2) Sunshine reader 3) Hygrometer 4) Pyrheliometers

18) {d‘mZm^modVr hdoMm àdmh ‘moOÊ`mgmR>r dmnabo OmUmao §̀Ì ............ Amho.
1) amoQ>m‘rQ>a 2) ìh|À ẁ[a‘rQ>a 3) A°{Z‘mo‘rQ>a 4) `mn¡H$s Zmhr

18) The device used for measuring flow of air around an aeroplane is .............

1) Rotameter 2) Venturimeter 3) Anemometer 4) None of these



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : gm‘mÝ¶ {dkmZ / 31

For Private Circulation Only

19) ............ Mm dmna H$ê$Z ËdMoÀ`m n¥ð>^mJmMr gyú‘ H§$nZo ‘moObr OmVmV.
1) H°$WmoS> ao Am°{gbmoñH$mon 2) B§Q>a’o$amo‘rQ>a
3) nm`Pmo‘rQ>a 4) A°‘rQ>a - ìhmoëQ>‘rQ>a

19) Skin surface micro-vibrations are measured using .............

1) Cathode Ray Oscilloscope 2) Interferometer

3) Piezometer 4) Ammeter-Voltmeter

20) ...... ho âbo‘ ’$moQ>mo‘rQ>aÀ`m CËgO©Z àUmbrMm ^mJ AmhoV/ZmhrV.
1) ~Z©a 2) A°Q>m°{‘Pa
3) B§YZ dm ỳ Am{U Ë`m§Mo {Z`‘Z 4) Mm°na

20) ...... is/are NOT a part of emission system of a flame photometer.

1) Burner 2) Atomiser

3) Fuel gases and their regulation 4) Chopper

21) bm¶{g‘rQ>aMm dmna ................ ‘moOÊ`mgmR>r Ho$bm OmVmo.
1) KwgImoar 2) ~mînr^dZ 3) ~mînr^dZ 4) ~mîn Xm~

21) Lysimeter is used to measure  ................

1) Infiltration 2) Evaporation

3) Evapotranspiration 4) Vapour pressure

22) {nPmo‘rQ>a ............ Mo ‘mnZ H$aVo.
1) ñWm{ZH$ dmVmdaUmMm Xm~ 2) Xm~mMr bhmZ n[a‘mU
3) ‘moR>m ìh°Š ỳ‘ Xm~ 4) EHy$U S>moHo$

22) A piezometer gives ..............

1) local atmospheric pressure 2) small magnitude of pressure

3) large vacuum pressure 4) total head

23) Imbrbn¡H$s H$moUVr A§Va ‘moOÊ`mMr AàË`j nÕV Zmhr?
1) Q>°H$mo‘oQ´r 2) AmoS>mo‘rQ>a
3) {ÌH$moU{‘Vr` ñVarH$aU 4) {dÚwV Mw§~H$s` A§Va ‘moO‘mn

23) Which of the following is not an indirect method of measuring distances ?

1) Tacheometry 2) Odometer

3) Trigonometric Levelling 4) Electromagnetic Distance Measurement

24) Imbrb {dYmZo {dMmamV ¿`m :
‘mnZ §̀ÌmV,
a) g§doXZerbVonojm aoIr`Vm ‘hÎdmMr Amho.
b) Cƒ AMyH$Vm Cƒ AMyH$Vm Xe©dVo.
c) AMyH$Vm R>amdmnojm Mm§Jbr Agy eH$V Zmhr.
`m {dYmZm§n¡H$s -
1) a, b Am{U c ~amo~a AmhoV 2) a Am{U b ~amo~a AmhoV
3) b Am{U c ~amo~a AmhoV 4) a Am{U c ~amo~a AmhoV
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24) Consider the following statements :

In a measuring instrument,

a) Linearity is more important than sensitivity.

b) High precision indicates high accuracy.

c) Accuracy can not be better than resolution.

Of these statements -

1) a, b and c are correct 2) a and b are correct

3) b and c are correct 4) a and c are correct

25) AMyH$VoMr ì`m»`m ............ Aer Ho$br OmVo.
1) ‘mnZmMr gwg§JVVm qH$dm nwZéËnmXZj‘Vm ‘moOUo
2) OdirH$ Á`mgh EImXo gmYZ dmMZ ‘moObo OmV Agboë`m à‘mUmÀ`m Iao ‘yë`mn ª̀V nmohmoMVo
3) gdm©V bhmZ ‘moOÊ`m`mo½` BZnwQ> ~Xb
4) EImÚm BÝñQ®>‘|Q>À`m AmCQ>nwQ> {g¾b‘Ü ò ~Xb H$aÊ`mgmR>r BZnwQ>‘Yrb ~XbmMo JwUmoÎma

25) Accuracy is defined as the .............

1) Measure of the consistency or reproducibility of the measurement

2) Closeness with which an instrument reading approaches the true value of the quantity being

measured

3) Smallest measurable input change

4) Ratio of the change in the input to change in output signal of an instrument

26) EImXm {gÕm§V {deof ‘hÎdmMm H$Yr ‘mZcm OmVmo ?
1) Ë¶mV àm¶mo{JH$ ‘m{hVrMm g§M¶ ZgVmo.
2) Ë¶m‘wio d¡km{ZH$ H|$Ð ~XcVo.
3) Ë¶mVyZ H$moS>çmV nmS>Umè¶m ‘m{hVrMo ñnï>rH$aU {‘iVo.
4) Vmo am°¶c gmogm¶Q>rV ‘mÝ¶ hmoVmo.

26) When is a theory considered as very important, according to the author ?

1) It does not contain experimental data

2) It changes the centre of science

3) It offers an explanation to perplexing data

4) It is accepted in the Royal Society

27) j‘Vm KQ>H$ ho ................  JwUmoÎma Amho.
1) H$‘mb ^mamMo ßb°Q> bmoS>er
2) dmñV{dH$ ^mamMo àË¶j ^mamer
3)  gamgar ^mamMo ßb°Q> bmoS>er
4) ßb±Q>Mr j‘Vm Am{U d¡{eï²>`m§À¶m g§X^m©V,  D$Om© CËnmXZmMo  CnbãY D$O}er

27) The capacity factor is the ratio of  ................

1) maximum load to the plant capacity.

2) actual capacity to the rated capacity.

3) average load to the plant capacity.

4) energy output to the available energy within the capacity and characteristics of the plant.
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CÎmao

(1) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar

1) JVremó

1-2 2-2 3-2 4-4 5-4 6-1 7-2 8-2 9-4 10-4
11-1 12-4 13-4 14-3 15-3 16-2 17-2 18-4 19-3 20-2
21-1 22-1 23-2 24-1 25-2 26-2 27-4

2) CîUVm

1-2 2-1 3-4 4-2 5-3 6-2 7-4 8-2 9-3 10-3
11-1 12-2 13-4 14-3 15-3 16-1 17-4 18-4 19-2 20-1

3) bhar - àH$me, ÜdZr

1-2 2-2 3-4 4-4 5-1 6-4 7-1 8-2 9-4 10-4
11-3 12-2 13-1

bhar -ÜdZr

1-3 2-2 3-2

4) {dÚwVMw§~H$s¶ bhar

1-1 2-1 3-1 4-4 5-4 6-2 7-1 8-4 9-3 10-3

5) ‘mnZ nÕVr

1-2 2-2 3-2 4-1 5-4 6-2 7-4 8-2 9-2 10-3
11-1 12-4 13-4 14-2 15-4 16-4 17-4 18-3 19-2 20-4
21-3 22-2 23-2 24-1 25-2 26-3 27-3


